Missing Numbers Multiplying by 10 Activity Sheet

)
1. x 10 = 190 2. x 10 =160
~— ——
) .
3. x 10 =130 4, x10=170
—— ——
) .
5. x 10 = 150 6. x 10 = 370
— | —
) .
7. x 10 = 380 8. x 10 = 250
~— ——
) )
q. x 10 = 260 10. x 10 = 280
—— ——
)
11.Dx10=370 12. « 10 = 580
~—
)
13.Dx10=460 14. x 10 =590
——
Use your multiplication knowledge to complete these calculations.
) .
1. 480 = 10 = 2. 440 + 10 =
~—— —
S SR
3.470+ 10 = 4, 420 + 10 =
— ——
) .
5.510+ 10 = 6. 610+ 10 =
~—— —
) .
7.730 - 10 = 8.740 = 10 =
— ——
) )
q. 870+ 10 = 10. 770 + 10 =
~—— —
)
11.740+‘IO=D 12. 670 - 10 =
——
)
13.890 =+ 10 = D 14. 760 - 10 =
——
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Challenge
Use your knowledge of multiplying by 11, to divide these numbers by 11.

SR
1.275+ 11 =
—
MY
2.396 + 11 =
—
SR
3.5177+ 11 =
—
MY
4.671+11=
—
SR
5.858 + 11 =
—
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Missing Numbers Multiplying by 10 Activity Sheet: Answers
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